WSETE (MR [ 1m3-H7] 2022/06/15
FET=ZE(%) SETAEBIE(A) FEBIE(N)
BOEMFEY B 12.8 6 47
=S 18.2 4 22
2K 145 10 69
HEEOEETEY E: 9.6 5 52
= 13.3 4 30
e 11.0 9 82
EEOEEHEY 5 7.9 3 38
=S 12.5 2 16
2K 9.3 5 54
SEXBLIUMDOEMETFEY E: 66.7 8 12
=4 100.0 4 4
2K 75.0 12 16
SMLmEE E; 30.0 6 20
S 50.0 1 2
2K 31.8 7 22
i 2% E: 9.8 5 51
= 5.8 3 52
e 7.8 8 103
i 2 E; 0.0 0 8
=S 0.0 0 2
2K 0.0 0 10
RS E 7.6 5 66
= 13.8 4 29
e 95 9 95
Hisd 5 i E; 36.4 4 11
=S 12.5 1 8
2K 26.3 5 19
FERIA E: 0.0 0 40
= 238 1 36
e 1.3 1 76
KEBREHEEBE E; 0.0 0 10
=S 0.0 0 27
21K 0.0 0 37
BiEE E: 0.0 0 4
E= 0.0 0 6
e 0.0 0 10
LT PN E: 0.0 0 21
x 0.0 0 24
21K 0.0 0 45
SRER E: 0.0 0 26
E= 0.0 0 21
e 0.0 0 47
[EF=Fnd E:] 0.0 0 60
x 0.0 0 39
21K 0.0 0 99
BIL AR AR K AE E: 0.0 0 10
E= N/A 0 0
2K 0.0 0 10
BAE E: 0.0 0 30
=4 0.0 0 57
2 0.0 0 87
% 5 0.0 0 2
= 0.0 0 4
2K 0.0 0 6
FEMHE L N/A 0 0
=4 0.0 0 28
2 0.0 0 28
IDEE 5 0.0 0 39
Es 0.0 0 15
2K 0.0 0 54
BHEARURERA 5 0.0 0 15
T 0.0 0 12
2K 0.0 0 27
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FET=ZE(%) SETAEBIE(A) FEBIE(N)
HAEDEEEHEY B 0.0 0 1
=S 49 2 41
2K 48 2 42
FREA BN E: 0.0 0 15
= 0.0 0 35
e 0.0 0 50
BEAILZT E] 00 0 47
=S 0.0 0 4
e 0.0 0 51




